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THE OPEN UNIVERSITY OF SRI LANKA
FACULTY OF EDUCATION

BACHELOR OF EDUCATION DEGREE PROGRAMME-LEVEL 6

(NATURAL SCIENCE)

1

FINAL EXAMINATIONS - 2015

- ESU4205 - MEASUREMENTS & EVALUATION IN EDUCATION

DURATION - THREE (03) HOURS.

Date: 02" April 2015 Time: 1.30 p.m. 4.30 p.m.

Answer all questions in Part I & three (03) questions from Part II.

01.
02.

03.
04.

05.
06.
07.

08.

PART I

Differentiate the concepts ‘Assessment’ and ‘Evaluation’.

i. ~What is an achievement test?

il. Briefly explain the differences between aptitude test and achievement test.
What do you mean by content validity of a test? }

Citing an example explain why the median is not the best measure of central

tendency for achievement scores.

i. What is the ‘skewness’ of a distribution of marks?

ii. Explain using a diagram‘thé negative skewness of a distribution.
1. What is “Table of specification?”

ii. State-main steps in preparing a table.

1. Explain what is meant by norm tables.

1i. Explain the use of norm tables citing examples.

1. What do you mean by an objective type test?

il. Mention three (03) disadvantages of objective type tests. |

(8 x 5 =40 marks)



09.

10.

PARTII

Following are the marks obtained by 40 students in a class at a year end

examination. -

ii.

1il.

iv.

il

iii.

43, 81, | 76, 22, 14, 29, 49, 56,
62, 23, 38, S8, 36, 71, 65, 49,
53, 51, 24, 80, 44, 42, 53, 66,
36, 49, 43, 71, 53, 49, 76, 40,
57, 67, 29, 14, 33, 50, 55, 60

Prepare a frequency distribution for the above set of marks taking
(48 — 57) as one of the class intervals.
| (03 marks)
Calculate the mode and median of this distribution.
| (05 marks)
Considering the assumed mean of the above set of marks to be in the class

interval (48-57)

(06 marks)
Calculate the standard deviation of the distribution of marks.

(06 marks)
Explain what do you mean by essay type test?

| (02 marks)

State three (03) advantages and three (03) disadva_ntages of ‘essay type
tests.

(06 marks)
Write an eséay type question and convert it to a structured essay item.

(06 marks)
Discuss the advantages of above conversion.

(06 marks)



11. 1.

ii.

iii.

1v.

12. 1.

.

| Student |/A |B |C |D|E |F |G |H |I J

Describe what is meant by affective development.

(02 marks)
Explain why it is difficult to measure affective development. - ‘
| (04 marks)
Discuss the difference between ‘attitudes’ and ‘interests’. |
| (08 marks)

Name two (02) techniques used in the measurement of attitudes and

explain one of them citing an example.

(06 marks)

Explain the terms ‘correlation’ and ‘correlation coefficient’.
(06 marks)
Marks obtained by 10 students for science and mathematics at a year end

examination are given below.

Science | 30 | 27 |50 |45 48 70 15065 |72 |60
Maths | 25 |40 |65 | 65|50 |69 |55]65 |80 |45

a. Calculate the Rank Difference correlation coefficient between science
and mathematics marks.
(11 marks)
b. Comment on the value you obtained.

(03 marks)



14.

ii.

State three (03) main characteristics of a normal probability curve.
(03 marks)
Marks obtained by 2000 students in an examination are distributed
according to a normal probability ‘curve. The arithmetic mean and
standard deviation of the distribution are 50-and 15 respeqtively.
a. Find the number of students who scored between 40 — 65 marks.
| (06 marks)
b. If the best 5% of the students are expected to be given A grades, what
is the minimum mark required to obtain A grade.

, (05 marks)

c. If those obtained less than 35 marks fail the examination, what is the

number failing this examination?
(06 marks)

Write short notes on any four (04) of the following.

1.
ii.
iil.
iv.

Vi.

Vii.

Central Tendency measures.
Cognitive Development.‘
Diagnostic test.
Aims and objectives.
School Based Assessment.
Learning Difficulties.
(5 x 4 = 20 marks)
-Copyrights reserved-



